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’ 100kN/M%Z#8 % % -l -~ = -|3mZEBRB| - ~ = - —| 100kN/mM%#B %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st 1.00{0.00 ~ 583 7297 #hLis 1000 ~ 583| 2.07 10.47 ZnLst 1.00f 500 ~ 8.05 7297 #hist | 500 ~ 8.05| 2.07 10.47
9 100kN/M%#B % % -l -~ = -|3mZEBRB| - ~ = - -| 100kN/mM%#B %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st 1.00{0.00 ~ 7.10 90.24| Zh L4t |0.00 ~ 7.10| 249 12.57 ZnLst 1.00f 5.00 ~ 10.30 90.24| #h st | 5.00 ~ 10.30] 2.49 12.57
3 100kN/M%Z#B % % -l -~ = -|3mZEBRB| - ~ = - -| 100kN/mM%#8 %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st 1.00{0.00 ~ 5.04 62.76| = List | 0.00 ~ 5.04| 2.95 14.91 ZznLst 1.00f 5.00 ~ 10.30 62.76] =h st | 5.00 ~ 1030 2.95 14.91
4 100kN/mM#%#BZ % - =1 ~ = -|3m%# 25| 0.00 ~ 0.75| 445 22.50| 100kN/m#%#8 %% - ol ~ = -|3m%E=x5| 500 ~ 10.21| 4.45 22.50
Zzh st 1.00{0.00 ~ 1.96 12.02] ZnLkl4t 075 ~  1.96] 3.00 15.16 ZnLst 1.00f 5.00 ~ 10.21 12.02] #xLl4t | 500 ~ 5.00] 3.00 15.16
5 100kN/M%Z#B % % -l -~ = -|3mZBRB| - ~ = - -| 100kN/mM%#8 %% = -~ = -|3m%i#BZ 3 =~ = = =
Zzh st 1.00{0.00 ~ 7.00 88.78] #nList | 000 ~ 7.00] 2.49 12.61 ZznLst 1.00f 5.00 ~ 10.11 88.78] #nlist | 500 ~ 10.11| 249 12.61
6 100kN/M%Z#8B % % -l -~ = -|3mZEBRB| - ~ = - -| 100kN/mM%#B %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st 1.00{0.00 ~ 5.09 63.45| ZnList 1000 ~ 509 1.81 9.13 ZznLst 1.00f 500 ~ 550 63.45| Zhlis | 500 ~ 550 1.81 9.13
100kN/M%Z#8B % % ~ ImEHBRD ~ 100kN/mM%Z#BZ % ~ ImEEZD ~
Zzh st ~ Zzh st ~ Zh st ~ Zzh st ~
100kN/mMZ#B % % ~ ImEHBRD ~ 100kN/mM%Z#BZ % ~ ImEEZD ~
Zzh st ~ zh st ~ Zh st ~ zh st ~
100kN/M%Z#B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
zh st ~ Zzh st ~ Zh st ~ zh st ~
100kN/mM%#8 % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zzh st ~ Zzh st ~ Zzh st ~ zh st ~
100kN/MZ#B % % ~ ImEHBRD ~ 100kN/m%Z#B % % ~ ImEEZD ~
zh st ~ Zzh st ~ Zzh st ~ zh st ~
100kN/mM%#B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zzh st ~ zh st ~ Zh st ~ zh st ~
100kN/m#E#BZ % ~ ImEFEZD ~ 100kN/m%#8Z% ~ ImEFEZD ~
Zh LS ~ ZhLlst ~ Zh s ~ ZhLs ~
100kN/m#E#BZ % ~ ImEFEZD ~ 100kN/m%#82% ~ ImEFEZD ~
Zh s ~ ZhLlst ~ Zh s ~ ZhLs ~
100kN/m#E#BZ % ~ 3ImEFEZD ~ 100kN/m%#8Z 5% ~ ImEFEZD ~
ZThESH ~ ZThLst ~ ZhLS ~ ZThESE ~
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